Q2 (a) Evaluate 
$$\lim_{x\to 0} \left(\frac{\tan x}{x}\right)^{1/x^2}$$
 in the form of indeterminant.

Answer

Riza. Som:  
Let 
$$Y = Lt$$
  $(taux)$   
 $log Y = Lt log  $(taux)$   
 $= Lt$   $\pi^2$  log  $taux$   
 $= Lt$   $\pi^2$  log  $taux$   
 $= Lt$   $log taux - log x$   
 $= Lt$   $log taux - log x$   
 $= Lt$   $log taux - log x$   
 $= Lt$   $\frac{log taux - log x}{2x}$   
 $= Lt$   $\frac{log taux - log x}{2x}$   
 $= Lt$   $\frac{2x - Sin 2x}{2x}$   
 $= Lt$   $\frac{2x - Sin 2x}{2x^2}$   
 $= Lt$   $\frac{2x - Sin 2x}{4x^2 \cos 2x}$   
 $= Lt$   $\frac{4 - Sin 2x}{4x^2 \cos 2x}$   
 $= Lt$   $\frac{4 - Sin 2x}{-3x^2 \cdot Sin 2x + 16x \cdot Cos 2x + 4Sin 2x}$   
 $= Lt$   $\frac{8 \cos 2x}{-16x^2 \cos 2x - 48x \sin 2x + 24 \cos 2x}$   
 $= \frac{1}{3}$   $Lt$   $k$   $\frac{4}{3}$  Ans.$ 

Q2 (b) Use Taylor's theorem, expand  $\sqrt{1 + \sin x}$  upto sixth power of x.

Q3 (a) Compute the are length of the curve  $ay^2 = x^3$  from x = 0 to a point having x = 0 to a point having x = 5a.

Answer  

$$\frac{A \cdot 3 \cdot a}{A \cdot 3 \cdot a} \quad \text{Som}$$

$$\frac{A \cdot 3 \cdot a}{2 \cdot a \cdot y} \quad \frac{a \cdot y}{dx}^{2} = x^{3} \\
2 \cdot a \cdot y \quad \frac{d \cdot y}{dx} = 3x^{2} \quad \text{or} \quad \frac{d \cdot y}{dx} = \frac{3x^{2}}{2a \cdot y} = \frac{3x^{2}}{2a} \left(\frac{x^{2}}{a}\right)^{1/2} \quad 1 \\
\frac{d \cdot y}{dx} = \frac{3x^{2}}{2a^{1/2}x^{3/2}} = \frac{3x^{1/2}}{3a^{1/2}} \quad 1 \\
\frac{d \cdot y}{dx} = \frac{3x^{2}}{2a^{1/2}x^{3/2}} = \frac{3x^{1/2}}{3a^{1/2}} \quad 1 \\
\text{Required length} = \int_{0}^{5a} \sqrt{1 + \left(\frac{d \cdot y}{dx}\right)^{2}} \, dn \quad 1 \\
= \int_{1}^{5a} \sqrt{1 + \frac{9 \cdot x}{4}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{4a + 9\pi}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{5a}{\sqrt{2} + \frac{9 \cdot x}{3}} \, dn \quad 1 \\
= \frac{1}{2\sqrt{a}} \quad \frac{312}{\sqrt{2}} \quad \frac{312}{\sqrt{3}} \quad \frac{312}{\sqrt{$$

Q3 (b) Find the length of an arch of the cycloid whose equations are  $x = a(\theta + \sin \theta)$ and  $y = a(1 + \cos \theta)$ .

Bib. 
$$x = a(0 + \sin \theta), \frac{dx}{d\theta} = a(1 + \cos \theta)$$
  
 $y = a(1 + \cos \theta), \frac{dy}{d\theta} = -a \sin \theta$   
The limits for field of the curve  $\theta = 0$  and  $\theta = \pi$   
i. The required length of the arch  
 $= 2\int_{0}^{\pi} \sqrt{\left[\frac{dx}{d\theta}\right]^{2} + \left[\frac{dy}{d\theta}\right]^{2}} d\theta$   
 $= 2a\int_{0}^{\pi} \sqrt{\left[\frac{dx}{d\theta}\right]^{2} + \left[\frac{dy}{d\theta}\right]^{2}} d\theta$   
 $= 2a\int_{0}^{\pi} \sqrt{\left[\frac{dx}{d\theta}\right]^{2} + \left[\frac{dy}{d\theta}\right]^{2}} d\theta$   
 $= 2a\int_{0}^{\pi} \sqrt{\left[\frac{1+\cos^{2}\theta}{1+\cos^{2}\theta} + 2\cos\theta + \sin^{2}\theta\right]} d\theta}$   
 $= 2\sqrt{2}a\int_{0}^{\pi} \sqrt{\left[\frac{1+\cos^{2}\theta}{2} + 2\cos\theta + \sin^{2}\theta\right]} d\theta}$   
 $= 2\sqrt{2}a\int_{0}^{\pi} \sqrt{\left[\frac{1+\cos^{2}\theta}{2} + 2\cos\theta + \sin^{2}\theta\right]} d\theta}$   
 $= 2\sqrt{2}\sqrt{2}a\int_{0}^{\pi} \sqrt{\left[\frac{1+\cos^{2}\theta}{2} + 2\cos\theta + \sin^{2}\theta\right]} d\theta}$   
 $= 2\sqrt{2}\sqrt{2}a\int_{0}^{\pi} \sqrt{\left[\frac{1+\cos^{2}\theta}{2} + 2\cos\theta + \sin^{2}\theta\right]} d\theta}$   
 $= 2\sqrt{2}\sqrt{2}a\int_{0}^{\pi} \cos \frac{\theta}{2} d\theta$   
 $= 8a\left[\sin \frac{\theta}{2}\right]_{0}^{\pi} = 8a$   
 $= 8a$ 

Q4 (a) If  $|z_1 + z_2| = |z_1 - z_2|$ , prove that the difference of amplitudes of  $z_1$  and  $z_2$  is  $\frac{\pi}{2}$ .

Answer

$$\frac{d(1 - Q)}{difference} = \frac{1}{171 + 721} = 171 - 721, \text{ powe that the difference of amplitudes of Z1 and Z2 is 71/2
$$\frac{d(1 - Q)}{difference} = \frac{1}{2} + \frac{1}{2} = 171 - 721, \text{ powe that the difference of amplitudes of Z1 and Z2 is 71/2
$$\frac{d(1 - Q)}{difference} = \frac{1}{2} + \frac{1}{2}, \text{ and } Z_2 = \frac{1}{2}, \text{ bowe that the difference of Z_1 - 2}, \text{ bowe that } \frac{1}{2}, \text{ bowe that$$$$$$

Q4 (b) A resistance of 20 ohms an inductance of 0.2 Henry and a capacitance of 100 micro-farad are connected in series across 220 volts, 50 cycle/sec main. Calculate, (i) Impedance, (ii) Current, (iii) Voltage across, L, R and C.

som there R=20 ohms, L= 0.2 Henery C= 100×156 formed 4.6. Voltage V = 200 volts, W = 25 x50 radian/Bec " XL=LW = 0.2× 100 7 = 62.8319 dams. 1 and  $x_{c} = \frac{1}{cw} = \frac{1}{100 \times 156 \times 100 \pi} = 31.8319 \text{ ohms.}$  1 (i) det Z be the impedance cap the circuit then,  $Z = R + i (\chi L - \chi c) = 20 + i (62.8319 - 31.8319)$ : |Z| = V (20)2 (31)2 = 36.89 ohme Ans 2 (ii) det I be the convent in the circuit. Then,  $I = \frac{V}{121} = \frac{200}{36.89} = 5.42 \text{ Amp}.$ 2 (iii) voltage across L = VL = I×L = 5.42(62.8319)
 valtage across R = VR = IR = 5.42×20 = 108.4 volts And
 voltage across C = VR = IC = 5.42×31.8319
 voltage across C = VR = IC = 5.42×31.8319 inte

Q5 (a) A rigid body is rotating with angular velocity 2 radian / sec about an axis OR, where R is 2i – j + k and O is the origin. Find the velocity of the point 3i + 2j – k on the body.

$$S_{2}(2n-1) \quad Angulars \quad vel = 2 \text{ sode} | ser (1, 1) \\ OR = 2i \quad j \neq k \\ \overline{OR} = \frac{2i \quad j \neq k}{\sqrt{h+h+1}} \qquad P(2i \neq j) \\ \overline{\sqrt{h+h+1}} = \frac{2}{3} (2i - 2j + k) \quad Z \\ \overline{OR} = OR = 2i + 2j - k \qquad A \\ \overline{OR} = OR = 2i + 2j - k \qquad A \\ = \frac{2}{3} (2i - 2j + k) \times (3i + 2j - k) \\ = \frac{2}{3} \left[ \frac{2i}{2} - 2j + k \right] \times (3i + 2j - k) \\ = \frac{2}{3} \left[ \frac{2i}{2} - 2j + k \right] \times (3i + 2j - k) \\ = \frac{2}{3} \left[ \frac{2i}{2} - 2j + k \right] \times (2i + 2j - k) \\ = \frac{2}{3} \left[ \frac{2i}{2} - 2j + k \right] \times (2i + 2j - k) \\ = \frac{2}{3} \left[ (2i - 2)i - (-2i + 3)j + (n + 6i)k \right] A \\ = \frac{2}{3} (5j + 10k) \\ = \frac{10}{3} (j + 2k) \qquad A$$

Q5 (b) A force of 15 units acts parallel to the line i - 2j + 2k and passes through the points 2i - 2j - k. Using vector method, find the magnitude of the moment of the force about the point i + j - k.

Answer

$$\frac{\mathcal{R}(s\cdot b)}{\mathcal{K}(s\cdot b)} \quad \frac{\mathcal{S}(dm)}{\mathcal{K}(s\cdot b)} \quad \frac{\mathcal{H}(s)}{\mathcal{H}(s\cdot b)} \quad \frac{\mathcal{L}(s\cdot b)}{\mathcal{L}(s\cdot b)} \quad \frac{\mathcal{L$$

**Q6 (a)** Solve the differential equation  $\frac{d^2y}{dx^2} + \frac{dy}{dx} - 2y = x + \sin x$ 

Answer

**© IETE** 

Q6 (b) A body weighing 10 kg is hung from a spring. A pull of 20 kg. Wt. will stretch the spring to 10 cm. The body is pulled down to 20 cm below the static equilibrium position and then released. Find the displacement of the body from its equilibrium position at time t sec., the maximum velocity and the period of oscillation.

25(6.1(b) En (14.7) | P- 5 MODERAJION-1 Higher Engly reathernations by B.S. Weewal (8)marking > K-1 restoring torre K= 200 Kg/m 0-timed ent of spring A A-1 lower end of sparage A-A B-> equilibrium position of spring when a body weighing w is hvery tream A. P AB= 0.05 m ( - , cohon the coeight is pulled down to ( After any time (t), the weight is at P. Tp = 10+ 200 x Equation of motion of the body ->  $\frac{d^2x}{dt^2} = -u^2x$ , u = 14 2 Period of oscillation = 2x = 0.45 sec Displacement of the body from B at time t is m= 0.2 cos(4t) m Maximum velocity = 2.8 m/sec.

# Q7 (a) Find a Fourier series for the function f(x) = x is the interval $\left[-\pi, \pi\right]$

Answer

E.7.a. Clearly, 
$$f(x) = x$$
 is an add function.  
Therefore, fourier series for  $f(x)$  is purely a sine series  
fiven by  $\sum_{n=1}^{\infty}$  by  $\sin nn$   $(-)$   $2$   
Since  $f(x) = x$  is continuous for all  $n \in (-\pi, \pi)$   
Therefore, fourier series of  $f(x)$  converges to  $f(x)$  for all  
 $x \in (-\pi,\pi)$   
Hence,  $x = \sum_{n=1}^{\infty}$  by  $\sin nx$   $1$   
 $\cos n$   $\sin n dx$   $1$   
 $\sin n = \frac{2}{\pi} \int_{0}^{\pi} \pi \sin nx dx$   $1$   
 $\sin n = \frac{2}{\pi} \int_{0}^{\pi} \pi \sin nx dx$   $1$   
 $\Rightarrow bn = \frac{2}{\pi} \int_{0}^{\pi} \pi \sin nx dx$   $1$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = \frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}})^{-0} \right]$   
 $\Rightarrow bn = -\frac{2}{\pi} \left[ (-\pi \frac{\cos nx}{n} + \frac{\sin n\pi}{n^{2}} + \frac{\sin n\pi}{$ 

Q7 (b) Develop f(x) is Fourier series in the interval (0, 2), if

$$f(x) = \begin{cases} \pi x, 0 \le x \le 1 \\ \pi (2 - x), 1 \le x \le 2 \end{cases}$$

### ENGINEERING MATHEMATICS -II JUNE 2014

 $b_{12} = \int_{0}^{2} f(x) \sin \pi x \, dx + \int_{1}^{2} f(x) \sin \pi x \, dx$  $\Rightarrow b\eta = \int_{-1}^{1} \pi x \sin \pi x dx + \int_{1}^{2} \pi (2-x) \sin \pi \pi x dx$  $\Rightarrow b\eta = \pi \left[ -\frac{x}{\pi \pi} \cos \pi \pi x + \frac{\sin \pi \pi \pi}{\pi^{2} \pi^{2}} \right]_{0}^{1}$  $+ \pi \left[ -(2-x) \frac{\cos \pi \pi \pi}{\pi \pi} - \frac{\sin \pi \pi}{\pi^{2} \pi^{2}} \right]_{1}^{2}$  $\implies b\eta = \pi \int_{-}^{\infty} \frac{\cos n\pi}{n\pi} \left\{ + \pi \int_{-}^{\infty} \frac{\cos n\pi}{n\pi} \right\} = 0$ Substituting the values of as, an and by in () we obtain the series,  $\frac{\overline{K}}{2} - \frac{4}{\overline{K}} \left\{ \frac{\cos n \overline{x}}{1^2} + \frac{\cos 3 \overline{x} \overline{x}}{3^2} + \frac{\cos 5 \overline{x} \overline{x}}{5^2} + \cdots \right\}^2$ De Fourier series of fin)

Q8 (a) Find the Laplace transform of cost. cos2t. cos3t.

Answer

$$\begin{aligned} \underbrace{\Theta_{c} \otimes a}_{c} & \underline{Soh}_{c} \\ cost \cdot cos_{2t} \cdot cos_{3t} &= \frac{1}{2} \left[ (2\cos t \cdot \cos 2t) \cos 3t \right] \\ &= \frac{1}{2} \left[ (\cos 3t + \cos t) \cos 3t \right] \\ &= \frac{1}{4} \left[ 2\cos^{2} 3t + 2\cos 3t \cdot \cos t \right] \\ &= \frac{1}{4} \left[ 2\cos^{2} 3t + 2\cos 3t \cdot \cos t \right] \\ &= \frac{1}{4} \left[ 1 + \cos 6t + \cos 4t + \cos 2t \right] \\ &: \lambda \left\{ \cos t \cdot \cos 2t \cdot \cos 2t \right\} = \frac{1}{4} \left[ \lambda \left\{ 1\right\} + \lambda \left\{ \cos 6t\right\} \\ &+ \lambda \left\{ \cos 4t\right\} + \lambda \left\{ \cos 6t\right\} \right] \\ &= \frac{1}{4} \left\{ \frac{1}{5} + \frac{5}{5^{2} + 36} + \frac{5}{5^{2} + 16} + \frac{5}{5^{2} + 4} \right\} \\ \end{aligned}$$

### **Q8 (b) Find Laplace transform of** cos<sup>4</sup> t

$$\begin{array}{l} & \underline{0.8.6.} & som \\ \hline & \underline{0.8.6.} & som \\ & = \frac{1}{4} \left\{ 1 + 2\cos 2t + \cos^2 2t \right\} \\ & = \frac{1}{4} \left\{ 1 + 2\cos 2t + \cos^2 2t \right\} \\ & = \frac{1}{4} \left\{ 1 + 2\cos 2t + \frac{1+\cos 4t}{2} \right\} \\ & = \frac{1}{8} \left\{ 3 + 4\cos 2t + \cos 4t \right\} \\ & = \frac{1}{8} \left\{ 3 + 4\cos 2t + \cos 4t \right\} \\ & \vdots \\ & \lambda \left\{ \cos^4 t \right\} \\ & = \frac{1}{8} \left[ \lambda \left\{ 3 \right\} + 4\lambda \left\{ \cos 2t \right\} + \lambda \left[ \cos 4t \right\} \right] \\ & = \frac{1}{8} \left\{ 2 + \frac{1}{8} \left\{ 3 + 4\lambda \left\{ \cos 2t \right\} + \lambda \left[ \cos 4t \right\} \right\} \right\} \\ & = \frac{1}{8} \left\{ 2 + \frac{1}{8} \left\{ 3 + \frac{1}{8} \left\{ -\frac{1}{8} \left\{ -\frac{$$

Q9 (a) Find L<sup>-1</sup> 
$$\left\{ \frac{3s-2}{s^2-4s+20} \right\}$$

Answer

## Q9 (b) Solve the equation

$$\frac{d^2x}{dt^2} + 2\frac{dx}{dt} + 5x = e^{-t}\sin t, x(0) = 0, x^1(0) = 1$$

Using Laplace transform.

Solve the equation - $\frac{d^2 x}{dt^2} + 2 \frac{dx}{dt} + 5 x = e^{-t} \sinh t,$ Som using Laboare transform (0)=1. Som Taking the Laboare transform of both sides, we get [152 x - 5x(0] - x'(0)] +2 [6x - x(0] + 5x Veing the given conditions, it reduces to - $(s^{2}+2s+5)\overline{x} - 1 = \frac{1}{s^{2}+2s+2}$  $\overline{x} = \frac{1}{(s^{2}+2s+2)(s^{2}+2s+5)} + \frac{1}{s^{2}+2s+5} \underline{1}$  $= \frac{1}{3} \left[ \frac{1}{6^2 + 2642} - \frac{1}{6^2 + 2645} \right] + \frac{1}{6^2 + 2645} \right]$  $= \frac{1}{2} \left[ \frac{1}{e^2 + 2st_2} + \frac{2}{e^2 + 2st_5} \right]$  $= \frac{1}{2} \left( \frac{1}{8 + 1^{2} + 1} + \frac{2}{8 + 1^{2} + 2^{2}} \right)$ Taking inverse Laplace toorstoom of both sides, we get n = 1 L-1 S(stipti + 2. 1 (stipt)2 { 1  $n = \frac{1}{3} \left[ e^{+t} \sin t + 2 \cdot \frac{1}{2} e^{-t} \sin 2t \right]$ x = = = = + (sint + rsin2t)

#### **Text Books**

1. Engineering Mathematics- Dr. B S Srewal, 12<sup>th</sup> Edition 2007, Khanna Publishes Delhi.

2. Engineering Mathematics – H K Dass , S. Chand & Company Ltd. 13<sup>th</sup> Edition, 2007 New Delhi .

3. A text book & Manish Goyal, 7<sup>th</sup> edition 2007, Laxmi Publishes (P) Ltd.